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S| 2021 3" 1LRE 20224 22 28K
| 2020 3" 1YRE 20214 22 28UNK
(Ets - &)
= H 18(=)2l A A7(H)2 =2 ama
o = (A) (B) (A-B) =
3,496,036,000 3,231,800, 000 264,236,000
IR a=g=" =Bl R k= =gl el 1,243,600,000 1,180,000, 000 63,600,000
1. 4920l 1,203,600,000 1,180,000, 000 23,600,000
1. 88Hd72x2 357,000,000 350,000,000 7,000,000~ A4+ : 357,000&8 &
2. AH AR 846,600,000 830,000,000 16,600,000[- AFS M H 2= : 846,600& &
2. 1244 10,000,000 = 10,000,000
1. 05292 10,000,000 - 10,000,000|- =29+ : 10,000 &
3.J1&01& 42 - - -
1. KAl THAHR 0] ® 2= 2 - - -
2. - 5tR0| &0 - - -
4. SHIRMAIER S - - -
1. 2HIXAAIZ 2 20 - - -
2.aE 4l - - -
5.J|Et&tSHE = 4~2] 30,000,000 = 30,000,000
B 30,000,000 - 30,000,000~ &rStE S ch J|EFAISIE 20! © 30,0008 2
2Q)XASxUsZ2 N 1,827, 164,000 1,698, 200,000 128,964,000
1.9 1,288,680,000 1,234,000,000 54,680,000
1. 8382H329 1,258,680,000 1,234,000,000 24,680,000|- BR2H79 1 1,258,680 &
2. 0S| AH R 30,000,000 - 30,000,000~ AFH AT 30,0008 A
2. Ws2H 9 430,644,000 422,200,000 8,444,000
lLusEgs 430,644,000 422,200,000 8,444,000| gigg‘g:ﬁg nggﬁiﬁ%
3.J|EtXI &2+ 107,840,000 42,000,000 65,840,000
|1.7|EPII%§—¢‘¥ 107,840,000 42,000,000 65,840,000(- JIEtXI& == : 107,840& &
)2t H U2 N 357,572,000 333,600,000 23,972,000
1.4rSHE & 40| 88,252,000 82,600,000 5,652,000
|1.&§*§§E?—+—9! 84,252,000 82,600,000 1,652,000[- At&tE A 2420 1 1,203,600& &+7%=84,252& &
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nl (= 4 =5
~ J - A 1(8A()o+)7| Al 1(78()£)J| (;B:i A=
sigeinse Lol 1,000,000 - 1,000,000- atetai2imS 2240l 1 10,0008 2 +10%=1,000& &
|EHAbStE 2{ 4ol 3,000,000 - 3,000,000~ JIEFAIEIEIRI 40! ¢ 30,000 2+10%=3,000% 2
EPN 269,320,000 251,000,000 18,320,000
CETEPS 257,736,000 246,800,000 10,936,000|- XIZZ 40! : 1,288,680 R *20%=257, 7368 &
AaNRSAL 800,000 - 800,000- NRZDE2H 49l : 8,000 & +10%-800%
e 10,784,000 4,200,000 6,584,000 JIEFKIRZ 42l : 107,840 % 10%=10,784% 2
Ssos220 Y 10,000,000 - 10,000,000
o) - - -
1.8t golEel 2 - - -
0. BB HAHYZ - - -
3.8tnJ|gEU2 - - -
4.01EH R - - -
Jlgaaol 10,000,000 - 10,000,000
1.2480]832 - - -
2. NFI22 10,000,000 - 10,000,000~ XIZJIL2 : 10,0008 2
S oo 57,700,000 20,000,000 37,700,000
57,700,000 20,000,000 37,700,000
10,500,000 10,000,000 500,000| :jf;:jﬁg%l%ﬂjq 308%%)0@%
47,200,000 10,000,000 37,200,000( g?ﬁjﬁg%giigﬂf%wg 200 =
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1228 20229 28 282 0tAl
1928 2021F 22 282 Al

= A 18(E)I R A7(&)II
(A) (B)
3,385,717,000 3, 132,506,000 253,211,000
et s2oE 1,300,680, 000 1,210,800, 000 89,880,000
1. 48822 H| 1,255,680,000 1,205,800, 000 49,880,000
1.01 24| 758,880,000 744,000,000 14,880,000(- @124H| : 758,880& &
2.8t Mol 2| 10,000,000 - 10,000,000(- sfAo124d| - 10,000& &
3. AFAIE - EHIYI 10,000,000 HAPAIE - &ZHIHl : 10,0008 &
4, ARESH| 448,800,000 HAPESH| @ 448,800& &
5. A2 2 b 15,000,000 A2 4H| : 15,000 &
3.9 &H| - MEH| 15,300,000
4 AFRESH| 428,000,000
5.9 2 HIF=&H| 12,000,000
6.972< 3,000,000 1,500,000 1,500,000~ H+=% : 3,000&8 &
7. 9IEH O] 10,000,000 5,000,000 5,000,000|- 9IEAFINEHI 10,000& &
8. M2l - - -
2. K2 10,000,000 - 10,000,000
1.01 48] 6,000,000 - 6,000,000~ @1AH| : 6,000& &
2. WL - - -
3. &8 2 - - -
4. AEASH| - - -
5.JIEt = S49H| 4,000,000 - 4,000,000(- JIEtR=2ZHl @ 4,0008 &
3. KIAITH AR HI 2 - - -
TXATHAIRA A Al - 2 S - - -
2. A EHE B A - - -
4.3tDAILARE 5,000,000 5,000,000 -
1.&8RAEAES 5,000,000 5,000,000 -|- SRAIEAMES 500083
5.0| Et&HEHE 2| 30,000,000 - 30,000,000
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&1 20208 32 12 2H

20224@ 23 282Xl
20218 23 282X

el
= R 18(g)2 17(®)2| =2 R
o = (A) (B) (A-B) =
1. J|EtatE S =& Y| 30,000,000 - 30,000,000(- JIEtAtEFESH] @ 30,0008 &
HH I REN 1,731,504,000 1,621,200,000 110,304,000
1.4 32H| 1, 193,020,000 1, 157,000,000 36,020,000
1.2l 460,020,000 451,000,000 9,020,000(- 124H| : 460,020 &
2.5 01 24H| 195,840,000 192,000,000 3,840,000(- &A014H| : 195,840F &
3. AFAIE - FHIYl 34,272,000 - HFAIE - BHIHl @ 34,2728 &
4. APEZH| 162,180,000 - AREEHl : 162,180F &
5. A2 24| 51,408,000 ARAMSHl © 51,408F &
3. 932 &l - = H] 84,000,000
4. HAFAESH| 148,000,000
5.4 MF=ZYI 11,000,000
6.3724 279,300,000 266,000,000 13,300,000|- H2==& @ 279,300& &
7.9 A2 10,000,000 5,000,000 5,000,000~ /IEAAINLHl © 10,0008 A
8. HIZ | - - -
2. WK S| 430,644,000 422,200,000 8,444,000
ekl 5,000,000 - 5,000,000 -214H| : 5,000& &
gmi=tn &= Bl I - - -
AHE3 422,644,000 422,200,000 444 ,000(- =IoI2 2 ¥ 2AIH| @ 422,644F A
A Al - - -
JIEtRE2Z | 3,000,000 - 3,000,000[- DIEtE2FHl : 3,000& &
3.J|EtXI & S At B 107,840,000 42,000,000 65,840,000
1. J1EH A& S A 8l 107,840,000 42,000,000 65,840,000(- JIEIXI2SAtZHl - 107,840& &
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Lot EH Ss0llAA
gD 20218 38 192 H 20223 28 282Kl
&J1 20208 32 1€92H 202198 28 282Xl

(i}

(E+<
o = (=] =2}
o M 18(€H)2I A A7(R)| = ama
[&] = (A) (8) (A-8)
JATUAIHH B2 RSN 246,832,000 230,506,000 16,326,000
1.0l X 2 H| 176,831,000 170,506,000 6,325,000
—aEtEEch &9 010 (3Y) ¢ 165,8008 &
28 92, OO’EQJ
S HEEIIY : 9,500M 2
A MAHZ 0 10,0008 &
CHOAG Y FHDAGIIAE 9,300
1,014 ] 176,831,000 170,506,000 6,325,000 CHMTAIH : 50408
CKSEXY ;5,208
CAEEE AIGSEEEZ2 ¢ 13,0008 &
< JIEFSE 0 21,740 &
- AbstEEC Xl g XY 11,0318
- = - - -
3.0l P EY 2 -
2. 972X 2HI 60,000,000 50,000,000 10,000,000
—aEtEeEic 29| : 40,0008
- 2 OHI(HLREo, 2tEs S) : 3,800&
SAEL42 S 15,0008
. X2 DESYl : 3,000
- ABPEH S 5,00073%
SEHT2O SXEAaH 3,008
L oNS@AN 2 SagA ¢ 170089
1.0/ 3SHIE8 40,000,000 40,000,000 -l - MHEWE : 2,000&8 &
- QIBZAIRS 1 5,000&
- SA0H] : 2,0008 &
CEY HSMAF L 012 AHIKY : 3,0008
pEtEE SATDE BAD ;2 000HE
S AFBEEEICH ABE OIIA BOF 15008
CDUDRSIHEZE : 1,0008
CEB2Z00Y| 200082
2 AT = oo 29y - - -
3.JIBIAIAE - BH|PR=E - 29 H| 3,000,000 - 3,000,000|- 2|BtAIA - HHIR=E - 29H| : 3,000&8
4. APAOFM 22| H| 1,000,000 - 1,000,000{- HApalotA&2Zt2|H] : 1,000&8 &
h. (a3 otate| | 1,000,000 - 1,000,000{- == otzeld] : 1,000& &
6.3 S =H| 5,000,000 - 5,000,000]- Hx&cl&sH| - 50008 &
7.0 200 EHI2 -
8.9 &=X22 10,000,000 10,000,000 - 2HE=X ED =2 2 nEZ XA : 10,000& &
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3 AS2H  2022E 2& 282K
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gDl 2021 1
&J1 20208 32 1€92H 202198 28 282Xl

i

M0 o

Ehel
= H 18(=)2l A A7(H)2 =2 o
2 5 = (A) (B) (A-B)
3.AIESK S 10,000,000 10,000,000 -
1.8t 251 2 = - -
2.ANATHAMAER - S5 10,000,000 10,000,000 |- NAaA S - S5 10,000& &
4. J|EFXI | 1,000 - 1,000
[1.01Er R 2l 1,000 - 1,000]- JIEXIRY : 1@
4)LCHACIH B S SEN 1,000 - 1,000
1. QB2 | 1,000 - 1,000
1.01 A4 1,000 - 1,000~ e12iH] : 1&€
2. 28R A - - -
5)2HAHISHZIREN 46,700,000 10,000,000 36,700,000
1LEJIQELHEA - - -
2 JlEt2getlE 46,700,000 10,000,000 36,700,000| ;:fjﬁ:%gaz%ggﬁ | 36,5007 &
6)S NG HANESBHIREN 10,000,000 10,000,000 -
1.8 N3 HEES 10,000,000 10,000,000 -- DI HFHE2 : 10,0008
1SR & - - -
1.2 284E950} - - -
2 HINENSENMFSKE - - -
3.ENSAENKE - - -
4. J|ELE X RHA K| & - - -
)REMFHSKIE 40,000,000 40,000,000 -
1LEXNHS - - -
2.24235= - - -
3.72=23S - - -
4.01H012H S 30,000,000 30,000,000 |- J1A712HES : 30,0008 &
5. 8JI818F= 10,000,000 10,000,000 -|- EJI8IZHS : 10,0008 &
6. 2B PHS - - -
7. AESQIRAOIHE - - -
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Y01 20214 33 122H 20229 22 282K
M| 20209 38 19RH 202145 23 282K
ELEE-))
o= M o182 " A7(R)2I =2 P
2 §;| = (A) (B) (A-B) =
8.IIEIRE R F S - - -
JRENAFEX S 10,000,000 10,000,000 -
LA AAFHS 5,000,000 5,000,000 -[- NEWAAFS © 5,0008
2.MEHIAS - - -
3. JIEIRERAH S 5,000,000 5,000,000 -[- JIEtREXAFS 5,000 &

4)J|EHHI RS KA E - _ _

1.8 8EX= - - -

2 ARISHUNE - - -
3.BEIIZHYNE - - -
4.0IEDISHYNE - - -
5.253X8 - - -
6.0|EHHI RS XA KIS - - -

1)2H2 &b & - - -
1.HSSEM
2 CH
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2
2)J|12=229

0y | 1R

B~ 10U | W

#3ozA(RY-1E) 110,319,000 99,294,000
. oiiel gl - -

V.= = 1,150,294,000 1,051,000,000 MBI EE(3Y) : 74,506F
1 1,259,813& &

V. IR 3 1,260,613,000 1,150,294,000
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